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Step 1: Identify the loss 

A tax loss of $3,000 is identified at the joining time. Subsection 701-1(4) lists 
the sorts of losses that are subject to the subdivision. Paragraph 707-110(2)(a) 
states how a tax loss is ‘utilised’. 

Step 2: Income year 

As the loss is for the income year that ends on 30 June 2002, it is a loss in 
respect of an income year that pre-dates the joining time of 28 November 
2002. 

Therefore, the joining entity’s loss of $3,000 satisfies the criteria for application 
of the loss transfer provisions. 

Step 3: Establish the unutilised amount of the loss as at the joining time 

In calculating its taxable income for the 2003 income year, the joining entity is 
able to utilise $500 of the loss (assuming the recoupment tests are satisfied). 
The joining entity is required to calculate its taxable income in accordance with 
the core rules in Division 701. 

This satisfies the requirement in Paragraph 707-115(2)(b) that only the net 
amount of the loss is subject to the transfer testing process, as the initial loss is 
utilised to the extent of $500 ‘in working out the joining entity’s taxable income 
(if any) for the joining year’. 

Thus, the $2,500 remaining of the joining entity’s 2002 loss is subject to the 
transfer testing process of section 707-120. 
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